ﬂé | dentifying Change Visually Name:

1)

2)

3)

Solve each problem. Answers
George spent $9.57 on candy at the mall. He bought the candy with atwenty dollar bill. Which
choice shows how much change he should get? 1
A. B. o
2.
3.
C. D
At the fair Haley spent $7.04 buying fair food. If she paid with aten dollar bill which choice shows
how much change she should get?
A. B.
C. D
Oliver bought $13.79 worth of groceries. He bought them with atwenty dollar bill. Which choice
shows how much change he should get?
A. B.
C. D
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ﬂé | dentifying Change Visually Name. Answer Key
Solve each problem. Answers
1) George spent $9.57 on candy at the mall. He bought the candy with atwenty dollar bill. Which
choice shows how much change he should get? 1 D
A. B. —
> C
3 D
C. D
2) Atthefair Haley spent $7.04 buying fair food. If she paid with aten dollar bill which choice shows
how much change she should get?
A. B.
C. D
3) Oliver bought $13.79 worth of groceries. He bought them with atwenty dollar bill. Which choice
shows how much change he should get?
A. B.
C. D
M ath 1-3 [67[33] 0
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